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1. Choose the correct answer/Answer the

following : 1x8=8

(a) is known and regarded as the
father of modern macroeconomics.

(i) Adam Smith
(i) J. B. Say
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(5)

Or

(b) Explain the following concepts :
3x4=12

(i) GDP

(ii) National income

(iif) Private income

(iv) Personal disposable income

What are aggregate demand and
aggregate supply function? Compare
the processes of determination of
aggregate price level in classical and

Keynesian approaches. 3+8=11

(@

Or

(b) Explain critically the Keynesian

theory of employment. Discuss its

relevance in the context of a
8+3=11

developing economy.

income

(a) Explain
hypothesis. Discuss its 11m1tat10r;i.4 a

the relative

e ovend)



(b)

(b)

7. (a)

8P/696

(6)

Or

Distinguish  between Marginal
Efficiency of Capital (MEC) and
Marginal Efficiency of Investment
(MEI). Explain the working of the
static investment multiplier: 4+7=11

Explain the determination of interest
rates under the classical and
I.{ey.*nesmn theories. Mention two
limitations each of both the theories
7+4=11
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Or

(b) What are current and capital
accounts in Balance of : ?aymen_ts
(BoP)? How can a disequilibrium 11

corrected?
Balance of Payments be 4+7=11
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